(ErON)’ NBK®

LEVELLING SCREWS No.E-9654

i E2E e

LBT.LBTN:S45C LBTS.LBNS:SUS303
(FTEENLBTN: TRim#ER#EA  HRC50-60
ESZEELBT. LBTN: iFiEsE
2E ZMEERARLE

(FWEBLBTN. LBNS: 28
OTmAMKE, AMEEATSEERENAE,
O KEBRIFTATE ), ERTFAEREZEAEL,
OEAIBHERFREN, |WFT A

SETHRE, RIEELS. f

=

E C D
B
WA
s ns A (@) B c D E F ¢ FERE g
946312 LBT-B16 M16X1.5 100 80 - 10 10 13 SR7 143 150
946313 LBT-B20 M20X15 = 100 80 10 . 10 16 SR9 = 234 = 200
946314 LBT-B24 M24x1.5 103 80 © 13 ¢ 10 18  SR10 = 347 = 300
A
s / A
EEAE
yr—
ra @202 MN—H M
‘w E c D WENATE
B
—— HEEOH
S s A (@) : < o E F ¢ FIEE mmg
946315 | LBTS-B16 | M16X1.5 100 80 10 10 10 SR7 143 150 -
946316 | LBTS-B20 | M20x1.5 100 80 10 10 16 SR9 234 20
946317 | LBTS-B24 | M24x1.5 103 80 13 10 18 . SR10 = 347 . 300
Fef TETHH
A
H
/ el
- v'”““"‘"(h | Nl I N e
' . c 5 EARTH
WG Wi B B3R
s e A (%) B c D E F G W FERE gag
946318 | LBTN-B12 | M12x1.75 = 136 . 120 = 10 6 8 9 SRI0. 72 = 100 TR
946319 | LBTN-B16 | M16x2 136~ 120 : 10 6 10 13 . SR14 = 9.8 = 200
946320 | LBTN-B20 | M20x2.5 136 120 © 10 6 13 © 16 - SR17 = 21.1 = 300 T4, WEN
P e
H SHERE 4
i /f 0
HE——F
2y HMIEsH
[
. c N I T e,
B %3
.m*g ...................
BEL me A () B € D E F G W FERE g
946321 LBNS-B12 | M12x1.75 = 136 = 120 10 6 8 9 SR10 . 7.2 . 100
946322 | LBNS-B16 | M16x2 136 120 10 6 10 13 SR14 . 9.8 = 200
946323 | LBNS-B20 | M20x2.5 136 . 120 10 6 13 16 - SR17 = 21.1 = 300

AEETTHCADEE. HITEFLTIA,



